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Colorimetric transformation i
=c; =ac

5 steps

=0,! 5(§l 75
=055 ¢

with a=1,00;

=0
=1,00

5 steps

TR T

Colorimetric transformation i

o =c; :ac"”with a=1,00;

=1
b=0,75

5 steps

oo 7

Colorimetric transformation i

2
20,75

=c3 =ac"“with a=1,00;

=2
b=0,50

5 steps

Colorimetric transformation i
¢ =c; =ac® with a=1,0

Colorimetric transformation i =0
cr=cj =ac® with a=1,00;b = 1,00

Eygb =>cmy0* Eolv* > cmyQ®

Colorimetric transformation i =1
¢t =ci =ac®witha=1,00,b=0,75

E —> cmy0* olv* —> cmy(Q*

Eo0-av, 21

Colorimetric transformation i =2
¢t =c5 =ac®witha=1,00,b=050

Egb -> cmy0* olv* —> cmy(y

Colorimetric transformation i =3
¢ =c5 =ac® with a=1,00;b= 2,00

F -> cmyo* olv* —> cmyQr

TUB- test chart IE68; Relative colour reproducuon Colour
Colorlmetrlc transformatlon of relative chroruabya b

http://130.149.60.45/~farbmetrik/IE68/IE68LONL. TXT /V.PS; start output .
N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D)

Colorimetric transformation i = 4
o =c; —ac‘bwilh a=0,75;b=1,00
*

5 steps

e
=035 C*
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Colorimetric transformation i =5
o =c :ac*bwilh a=0,50;b=1,00

5 steps
X
5

=

Colorimetric transformation i =6
=ct =ac*bwuh a=0,25;b=1,00

5 steps 5 steps

X
07

Colorimetric transformation i=7
¢ =ct =ac® with a=0,0
™ *

5 steps
X X
o
N
1

input:rgh —> cmyO* setcmykcolor

output: no change compared to |n_!_| 3
£

Colorimetric transformation i = 4
cr=cy =ac® with a=0,75;b = 1,00

Ergb =>cmy0* rﬂ =>cmyQF

Colorimetric transformation i =5
¢ =cz =ac®with a=0,50;b=1,00

E -> cmy0* ! olv* —> cmyQ*

Eos1-4N, 61

Colorimetric transformation i = 6
¢ =c; =ac® with a=0,25

1,00

F -> cmy0* ! olvs —> cmyQ*
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Colorimetric transformation i =7
¢ =c3 =ac®with a=0,00;
rgb —> cmy0*

1,00
olv: —> cmy0r
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